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Note : (i) All the four questions are compulsory. 
(ii) All the questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

Discuss various aspects of nature of science. 
Explain how 'Science is a creative endeavour'. 

OR 
Discuss the importance of children's ideas for 
science learning. How will you use their ideas in 
classroom ? Explain with suitable examples. 

2. Answer the following question in about 
600 words : 

How will you encourage inquiry in science 
classroom ? Explain with an example from science 
curriculum at elementary level. 

OR 
What do you understand by concept map ? How 
will you construct a concept map for "natural 
resources" theme at class VII level ? 
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3. 	Answer any four of the following questions in 
about 150 words each : 

(a) Discuss various skills to be assessed in 
science along with the indicators. 

(b) How will you differentiate Autotrophic and 
Heterotrophic nutrition in your class ? 

(c) How will you introduce the concepts of 
'Compounds' and 'Mixtures' in your science 
class ? 

(d) Suggest an activity to explain the concept 
of "Reproduction in plant" in elementary 
class. 

(e) Suggest a classroom strategy to explain the 
reflection of light from convex and concave 
mirrors. 

(f) Discuss various effects of global warming. 

	

4. 	Answer the following question in about 
600 words : 

Identify any topic of your choice from science at 
elementary level and prepare a detailed plan based 
on 5-E approach. 
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